
 

Dr. Rachana Shalini 

Department of Botany 

Class: 12th 

Unit: 2(Genetics & Evolution) 

Topic: Structure of DNA(contd.) 

Lecture no.-175 

Date: 2/12/2020 

Structure of DNA (contd.): 

The basic building blocks of DNA are nucleotides, which are composed of a sugar 

group, a phosphate group, and a nitrogen base. The sugar and phosphate groups 

link the nucleotides together to form each strand of DNA. Adenine (A), Thymine 

(T), Guanine (G)  and Cytosine (C) are four types of nitrogen bases. 

These 4 Nitrogenous bases pair together in the following way: A with T, and C 

with G. These base pairs are essential for the DNA’s double helix structure, which 

resembles a twisted ladder. 

The order of the nitrogenous bases determines the genetic code or the DNA’s 

instructions. 

 

(Components of DNA Structure) 



Among the three components of DNA structure, sugar is the one which forms the 

backbone of the DNA molecule. It is also called deoxyribose. The nitrogenous 

bases of the opposite strands form hydrogen bonds, forming a ladder-like structure. 

                                            (DNA Structure Backbone) 

The DNA molecule consists of 4 nitrogen bases, namely adenine (A), thymine (T), 

cytosine (C) and Guanine (G) which ultimately forms the structure of a nucleotide. 

The A and G are purines and the C and T are pyrimidines. 

The two strands of DNA run in opposite directions. These strands are held together 

by the hydrogen bond that is present between the two complementary bases. The 

strands are helically twisted, where each strand forms a right-handed coil and ten 

nucleotides make up a single turn. 

The pitch of each helix is 3.4 nm. Hence, the distance between two consecutive 

base pairs (i.e., hydrogen-bonded bases of the opposite strands) is 0.34 nm. 


